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1. HEO| 7

HoI2de |2 HE : AHEAZI S SEXYH0 B3 HE
HE 3% EXfEds= a8FAtge HEIE
EYAESZFULSAHASAMEN R A= AA559
A AA560
C 352 AA562
Ce AA563
w AD618
HEO| R M=o, =7t 87 Y EEPS bS] 2012.06.11
& o| Mji Rl
287|7t 2013.09.11 ~ 2013.12.10 =47|7 =2l gof

AEo7IZ0] g2

=

EAETRIRE(F)

T

=1

| Al

<

=]
INEEEE

ThOY S| A www.trustonasset.com | At QleHHE MH| A~
Amo| £ O] EXHAERS OPE Ol 42918 F5L7| 2|5t0] FXFAEXY AL 90%0| 5t 2 KOl FXtSt, FXHAEFRY LS|
c== e 30%0|5tE SR F0| FXts B7|Ho2 QYA XHEO|S WU O|Xt2 S F=TL| L.

HEFH 25 Moy e SUE
RAE Z0H (A) 18,710 27,852 48.86
[ Bxj £oH (B) 0 0 4161
s RS AS B XA (C=A-B) 18,710 27,852 4886
gl o1z & 4 (D) 18,473 27,217 4733
7|1Z= 7tz (E=C/Dx1000) 1,012.79 1,023.31 1.04
SH(Class)d 7|&7t4 g
A 7|1&7tA 1,006.50 1,014.18 0.76
C HESE 1,006.00 1,013.16 071
Ce HESE 1,006.61 1,014.40 0.77
W 7|1&7tA 0.00 1,004.09 0.41
F) 7|E7H40|2 EXAVL HEEASHEE YS(OHY), ES@EM)SHe 42 = BHladeiaxd) =8 Ao 88L& 71H2 8 HEQ| &Xtit
SHE AR S H ExFE Lhe 7t S DRLICH
.
R ER-E
W 7|1t E
(EH9 - %)
T ZZ 374 2 6712 2 97K X2 1274
EeAESRELL 1.04 1.98 2.64 3.66
SHERERHER]
H| D X| 2= (x| OF ) 0.63 1.78 1.58 2.86
(H|X|£= CHH| A1p (0.41) (0.19) (1.06) (0.80)
&7 (Class) 8l 3%
A 0.76 1.42 1.80 2.53
(H|ZX|£= CHH| A1p (0.13) (-0.37) (0.22) (-0.33)
C 0.71 1.32 1.64 232
(H|ZX|£= CHH| A1p (0.08) (-0.47) (0.07) (-0.54)
Ce 0.77 1.44 1.83 2.58
(H|X|£= CHH| A1p (0.14) (-0.34) (0.26) (-0.28)
W - - - -
(H| I X| == CHH| A1) - - - -

Z5) H|IA|2=(HX|0F2) : KOSPI 20% + CALL 10% + KIS 2§ 01-02Y 70%




T2 A= 1 =2 21 = 39 X2 54
EfAEZ UL 366 ) ) )
SHEEREH =R ’
H| m X|4=(HX|0t3) 2.86 - B B
(H|mX|= CHH| 1) (0.80) - - -
ZHF(Class)d A%t
ENAEZDRATHA S 2.53 - ’ )
(H|mX|= CHH| 1) (-0.33) - - -
EAEIZFUOAHE= 232 - - -
(H|mX|= CHH| 1) (-0.54) - - -
EAEZDIZUTAES 258 - - -
(HlmX|= CHH| 1) (-0.28) - - _
EAESZFULAHEE - - - -
(HlmX|= CHH| 1) - - - -
Z%) H|mX|Z=(#IX|OF3) : KOSPI 20% + CALL 10% + KIS=-ZX{ 01-02Y 70%
X 2| EXAE2 Ot MatE LIELE ¥ o|gjo| 22/HaE HESI= 212 OfELCE
A e
W &g
(THS| - B okel)
= TFAH A EH =
= o ;'1_‘1 “—I'ooE —‘f'—%ﬂ' _|EXI-A|—|- E|_|'7|EHE 7|E|- —39!@7%
= =4 KA ola HeER [ FLY Zo HEXHAH 7[E} 2oz
A 7| 64 83 -2 0 0 0 0 25 0 169
= 94 95 0 0 0 0 0 46 -1 235
AlSis
3. Xpareled
W X EY
(THS| - WOk, %)
st zd ol o= sy SR CHo|ER 71 XhAbs ol
T = 4 A ols HEXL | Ly el HEXHA 7|E ol=
KRW 1,006 20,629 0 0 0 0 0 0 0 6,216 0 27,852
(0.00) (3.61) (74.07) (0.00) (0.00)| (0.00)] (0.00)[ (0.00)] (0.00)| (0.00) (22.32)]  (0.00) (100.00)
st A 1,006 20,629 0 0 0 0 0 0 0 6,216 0 27,852
) TEHE
A 7| =
Eh7|chERoE Rl ==elv =
X2 69.94 P | 74.07
F4| F4
80 100 80 100
F) ?lo| Ant= s AHHEO| N XAERF LY S FXHXLO|AH 20{F7| %I*H, DHEQ| XM LS Y AHHETL 2F RHEO|AM XXt
1 e HES 7HEX 2 HE6t0] QhEst ANULICH AA +UEH 7|FC 2 2t Zutet HlWst0] 0|3t Zut7t Sig = ASL|C




H A3E(ZUHF24]) FXHHZ
(EH9: %)
=< A3 H=
1 M= 78.21
2 IT S/W & SVC 11.37
3 AFQIAH| A 7.19
4 AMH| AN 2.05
5 ME7|% 1.18
> EXLTHA A9l 1052
(S - %)
T 59 H = S 59 H=
1 N £010280-1508-02 14.40 6 X2 = 110275-1512(12-6) 8.95
2 X2 = XM 0325-1506(12-2) 12.65 7 xf 2 = 110275-1709(12-4) 711
3 NEY 22|2%17-01&12-30 12.52 8 CH7|AZ o)) 472
4 CHOIME SEREEXNEH) 10.81 9 CHOIME SEGIHHESH) 4.47
5 N £010328-1406-02 9.01 10 X2 = 71X #03250-1809(13-5) 3.60
XECH MM SXHARHE 82 SE8FAEE HALSAIAIO|ES| HE 27|YYE M R AMBIME NS = JUSLICHQIEHUFA
http://dis.kofia.or.kr) Ef, $15| HASAIALO|EOA Z3|st 27|YRETA X AMBIME B XML HTAMLL 2 7|Z= Q0| Mojg = US|
Vv 2 XHAE HQ RS LY
> XA
(EHel 3, ST, %)
59 ot 3 7ol Bt EC &%t e ol oot 23718 | M8s= | HE
£0H0280-1508-02 4,000 4,010 cystol= KRW [ 2013-08-02 | 2015-08-02 RF 14.40
=2 11k #0325-1506(12-2 3,500 3,523 Cfstol=2 KRW | 2012-06-10 | 2015-06-10 RF 12.65
23|2817-013+12+-30 3,500 3,488 cystol= KRW [ 2013-01-30 | 2014-01-30 AAA 12.52
£00328-1406-02 2,500 2,510 cystol= KRW | 2012-06-02 | 2014-06-02 RF 9.01
=2110275-1512(12-6) 2,500 2,494 cystol= KRW [ 2012-12-10 | 2015-12-10 RF 8.95
=2110275-1709(12-4) 2,000 1,981 cystol= KRW [ 2012-09-10 | 2017-09-10 RF 711
£ 1 X 2103250-1809(13-5 1,000 1,004 Cfstol=2 KRW [ 2013-09-10 | 2018-09-10 RF 3.60
F) EX Y 49 1055 X HItaH0| RHtEWO| 5%E Xutst= Z2 7|
= EET
(BH9] - 5 SO, %)
55 =87 S LR} =4 2| oH7| e =%t
CH|ChS SILIIESH 2013-12-10 1,244 253 2013-12-11 Cysho=2 KRW
o= e 2013-03-31 1,313 2.07 Cfstol= KRW
CH|ChS QBEXEH 2013-12-10 3,009 253 2013-12-11 Cystol= KRW
F) EXE 49 1055 X HItaH0| RHAtEMO| 5%E Xutst= 22 7|
4. EXISBHEAY Y
B EX2200%(HEDfLX)
(TH9 2 7H, S 9)
e x|2| =4 _ 28350 HE g ’gﬂ_fi¢7f Ae HE L AdAA Y 28R ss=Eus
He | HE N 2&L HEI| =+ 2812
FTE O| A} 19714 7 9,779 - - 2109000512
X BA 19744 28 24,720 - - 2109000911
F) 8Y0| 72 SME BAIE 0| MYREHEQIHO|H, ‘M LEMEQI 0|2 REMEQH T EXIHE 8 U EX QAET S0 Ao
XHEO| REXMEH HAYY S2 3 EFAHEL TASAMO|EL F=A|ZA| S8 Gt £ AELCH (LU F4 http:/dis.kofia.orkr) Et,




o 7| 7|
TE 3 bl 3 Hlg
AL 2 A 0 0.00 0 0.00
ThO S| A 0 0.00 0 0.00
HE XA 2 S| AHA EFRIXE 0 0.00 0 0.00
AR 22| 2| A 0 0.00 0 0.00
20 0 0.00 0 0.00
7| EtH| &** 0 0.00 0 0.00
oo ChaOfOf. B 442 1 0.01 1 0.00
=) fiff % f E% 0 0.00 0 0.00
S4B —
A 1 0.01 1 0.00
SHAHAM 1 0.00 0 0.00
KA 2 A} 3 0.12 4 0.12
ZHOH 2| A 4 0.15 5 0.15
H C X A 2 S| AHAL EFQI X 0 0.00 0 0.00
UHIALE 22| D AL 0 0.00 0 0.00
28t 8 0.28 9 0.27
7| EtH| &** 0 0.00 0 0.00
- Cteoiol. 57l s=+& 0 0.00 0 0.00
—y ZMNEMYR S
;;LI A Hlf sz 0 0.00 0 0.00
oA 0 0.00 0 0.00
SHMEA 0 0.00 0 0.00
XA 2 A} 19 0.12 22 0.12
ThOf S| A 32 0.20 38 0.20
H C X A TS| AHAIEFOI XL 1 0.00 1 0.00
QUHFAMR 22| S| A 1 0.00 1 0.00
20 51 033 62 0.32
7| EFH| & ** 0 0.00 0 0.00
oo ChEOjo. 7142 0 0.00 0 0.00
=74 ﬁ:ff%ff 0 0.00 0 0.00
Sat=t —
SHA| 0 0.00 0 0.00
SHAHAM 0 0.00 0 0.00
RHAH2-EAL 0 0.12 0 0.12
THOf S| A 0 0.14 0 0.14
HET A 2T AHAEF IR 0 0.00 0 0.00
UHIALE 22| 2 AL 0 0.00 0 0.00
23t 0 0.27 0 0.26
7| EFH| 2 ** 0 0.00 0 0.00
Cteoj). 5l & 0 0.00 0 0.00
A EESTETer=
;;Hﬁ b f sam 0 0.00 0 0.00
oA 0 0.00 0 0.00
SHAM 0 0.00 0 0.00




o 7| =
TE EL) e EL) bl
A28 AL 0 0.00 2 0.12
OB A 0 0.00 0 0.00
HE X AR 2| AH(AEFQI X} 0 0.00 0 0.00
LHEALR 22| 3| A 0 0.00 0 0.00
HBH 0 0.00 2 0.12
W 7| EtH| 8** 0 0.00 0 0.00
ChaOfOf. B 448 0 0.00 0 0.00
i VT
=) S 0 0.00 0 0.00
sz MH| A =2
T T —
A 0 0.00 0 0.00
SHARAM 0 0.00 0 0.00

* HEO| XS (7| ZHE T T HlE

(i |

ol
[T —
on
10
2
il

** 7|EfH| Ol 2t 2| A ZALH| & U ZHHE S HEOM BdH-EHoz XEE HE22M Of0f- S/ ++2& Heldt AL

> & H, HE HIE

9| - AL, %)

(Tt kit
o SiE HE A2{HE H|E it

T SH= - HEH|lg SHesE HE |SHEE HEH S0 - S7H+2F H]
EYAEZDIZYD} 7| 0.0169 0.0118 0.0169 0.0118
SHEER I H =R =] 0.0109 0.0114 0.0109 0.0114

EF(Class)d 3%}
7| 1.1023 0 1.1231 0.0103
=] 1.1023 0 1.1162 0.0102
c 7| 1.3024 0 1.3185 0.0121
=] 1.3024 0 1.313 0.0118
e 7| 1.0549 0 1.0643 0.0183
=] 1.0567 0 1.0638 0.0154
W 7| 0 0 0 0

=% 0.5024 0 0.5066 0.0087

1) S 4-H|-8H|&(Total Expense Ratio)0|Zt 28
TR Ltw HIEEM siY 287|7 & FAAIL 2t
F2) OjOf- B7H==== H|SO|2t OO0} - B/ =2 E oAttt HE
o Ojof- SR SFS LEFYLITE

e
In
2
Rl
Bl
o
_(')_}
rir
HL
+
o
N
_rp_
=
o
opt

oA EAFL ABTA(ES U AL 7|

F)2Z Lhe HEEAM siE 28712 & FAAIL £

F3) ZXtEO 42 RHEOA YW H&2 AHHETL X4X|St= H|E 2 2HESH0] ghitet =X L Ct
E A o
6. S XFXFAF DjOHLY
e (=]
B oo FEA AR U 2HE
(EHR| . BHBHRA, %)
o == O = O{ 0§ 2| =2 5)
& = =2 = si= 7|2t Gkt
0 0 5,986 117 48.33 193.85
F) ol 287|7 & O FATIMo| FHZ T Y 8| T 2R FAL HRVIMCR LHE HlE
= S (= 3
B %2 3&7| ojof=]HE 0|
(THR : %)
131H03811Q ~13H06210Q 13H062 119 ~13H09€10Q 13EH09| 11 ~13H12€10e

37.65 270.37 48.33
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